ASSEMBLY INSTRUCTION

N723P272266 N723P272267
N723P272268

1]
N———

If you have any questions, please / \
feel free to contact us. \

Emai | : hdt eam@mi nal i f e. com

= ]

Sets often ship in multiple boxes and delivery date

may vary.
CUSTOMER SERVICE

Questions,Missing parts,Assembly help?
No need to return the product, we will gladly help and ship
your replacement parts free of charge.



小雨
If you have any questions, please feel free to contact us. 

Email: hdteam@aminalife.com

https://manuals.plus/m/98ff7fc17a0ed10621cc7a6262cc03cd7b6d788c3161e6a0597e96c73039e151

PRE-ASSEMBLY INFORMATION

Please read this manual carefully before beginning assembly of this
product. Keep this manual for future reference.

NOTICE

1.Please assemble it AFTER all boxes are received.

2.Please do not throw away any of the packages or the instruction until the sofa
is fully assembled.

3.Please keep children away from the plastic bags or any small pieces of stuff.

4.Some key parts of our product may be stored and hidden inside of other parts.
Please open any zippered or hook & loop storage compartments to take out all
parts.

5.Please do not open the compressed packages until your sofa frame is
completely assembled.

6.As the cushions are all vacuum compressed,there will be some wrinkles.
Please give them up to 72 hours to reach its original size and the wrinkles will
basically disappear.

7.D0 NOT INSTALL THE SCREWS ALL THE WAY IN THE BEGINNING.
Place each screw into their proper hole and use your hand to twist the screw
halfway. Twist all the screws in halfway to ensure the holes will match up
properly and the product is level on the ground. When everything seems fitted,
then tighten the screws.

8.Do not over tighten screws and bolts to avoid stripping.

** 2 adults recommended

@ Takes about 1.5 Hours to assemble

Weight capacity of each seat:330LBS




COMPONENTS

\ J o\ 7\ /
// ] \\ y wislwislwlelwis
' ‘ L
\ Y —/ miniuininlelnle

HARDWARE

NO | DESCRIPTION SKETCH QTY

N Washer © 44

M Screws 8X60 {mmm 20

@) Screws 8X80 ) 12

P Butterfly Nut I\ 12

Q Gasket S 16

R Wrench r 3




COMPONENTS

N723P272266

Seat frame B Seat cushion H Back frame E Back cushion GBack cushion
(Left) (Right)
l\ LN N D
2PCS 2PCS 2PCS 1PC 1PC
Screws N O Screws P B
8X60mm Washer 8X80mm utterfly nut
@ i © = =N
8PCS 8PCS 24PCS 8PCS 8PCS
T Gasket R Wrench
8PCS 1PC
N723P272267
(A\ Seat frame @Seatcushion @ Back frame F Back cushion @\Ottoman frame
LA e ) =
) ]
1PC 1PC 1PC 1PC 1PC
COtt hi q_\ @) Screws N @ Screws
Kiotoman cusnion (L) Leg 8X60mm Washer 8X80mm
LA o || v || @ || o
1PC 8PCS 4PCS 12PCS 4PCS
P Butterfly nut Gasket R Wrench
4PCS| 8PCS 1PC




COMPONENTS

N723P272268

(C\ D= N Screws
Left armrest Right armrest Plug Washer 8X60mm
1PC 1PC 1PC 8PCS 8PCS

GR\ Wrench
ﬁ

1PC




ASSEMBLY STEPS

Y13l Install the left armrest (C) and right armrest (D) onto the

~

seat frame (A). N| (o) |8PCs
M R
8PCS
/%@&\ f %@\\ M M8X60
o J
LA Connect the seat frames (A).
(©) fhepcs
e | 8PCS
7 | 8PCS
Y I3 W Install the sofalegs (L) onto the seat frames (A) and 1)
ottoman frame (J). &> 16PCS
A
~ C " ‘ 7' .“* 8! @ ra?
L \Legs unnecessary here. t] )
SN Fix the back frames (H) onto the seat frames (A). @ 12PCS
WWMBXGO 12PCS
H \ H / H
AN e
o R il
Awm
S SR
Open the backrest cover and install the screws.
N J

6



N30 Open the vacuum bag and take the cushion(B/E/F/G/K)out.
To restore the original shape, follow the steps bellow.

L 9

-y it I
]
iy oppq Wl B0 ael paEh s Frman wrwi day. wth hoet feweria _anwhi, Wl Tl A
T ——_ rOET T S R T rrem Hyw froel w Fully eelake iy urkl e waflaew = evan

After packing up, place them in somewhere dry and venslated. After about 72-96 hours.
It can be restored to the best use condition.

N

3K W Place the cushions on the sofa.




	页 1
	页 2
	页 3
	页 4
	页 5
	页 6
	页 7

